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15% | 0.870 [0.756 | 0.658 | 0.572 | 0.497

DBN-19080002030501 ] 1 [ Contd...



wise vaedl Wi Al uglaziia 2uaR sus-- duasia Heled-
Y],

(1) Aol adHid yeusll ugla
(2)  As1sRSclAL AisHl wala
B3) AdRs qudr el ugli

2 wqudl Sudl R s Wgse wde sl QAR O, L W adl 17.5
WA ol iyl 9. s3540 AsLL 3. 20,00,000< A, MiFs2] Y™
5 oadd o, =Rl Al 2l usld Yol 9. sQAUA €2 30% B,
AR 2 s yd-l Alls As3 vas A Yo ©:

ay wixse - 1 wixse - 2

(3.) (3.)
1 8,00,000 9,00,000
2 9,00,000 9,40,000
3 8,00,000 7,50,000
4 7,20,000 8,00,000
5 9,00,000 8,60,000

10%+L d21d €3 3. 1+ dddisl et uay uid a2 sis% 0.909,
0.826, 0.751, 0.683 i1 0.621 €.

il HUBL wrel (1) urd 2 Axd uglizt, (2) A Bl aadr
£ Uglixl daul (3) Al addi el uglavl Wigsed yedis s30
1oy Yals L.

v [, WA 6 wigse ©. ¥l wlsdl A yxe o, 17.5
(R84 3. ‘0004L)
oo Rl Aea-il Wigs2e - Al ¥52 - B+l
153 wale 153 wale
(3.) (3.)
Q{1 0.2 50 60
ALY 0.6 40 40
{12l 0.2 30 20

Su-l Migse HAUR 2L AWHALN MIFE2 YAE $AL HIOL 8. dHIR,
ad Yool ol Ul sl Wiwse vl e[ Aamd 8 d-l dals suuarl
8. [Aaa-isdl 2R dl.

DBN-19080002030501 ]

[ Contd...



4 Al . WA 1l - P adl vl - Q wileal 91l 6 17.5

gUURAL 9. SISURL s evlRd wLSIRAL ALssAAl AUSE YAisH
PR Gualol 30, doifid wfsdl A yae ©

ay HYl4-P Hll1-Q
uidl Y&t 3. 1,80,000 uidl Y& 3. 1,85,000
Fud Ysd ASRIE = 20% Buid Ysd ASRL e = 20%
U ALl AissAdl | AR Alval YL ssAd
As3 uas AUSH s As3 Al | AUSA Ais
(3.) (3.)
1 80,000 0.6 90,000 0.5
2 1,10,000 0.7 1,00,000 0.8
3 1,30,000 0.5 1,20,000 0.7
4 1,20,000 0.8 1,40,000 04
5 1,40,000 0.4 1,30,000 0.8

20% q21d €2 3. 1 o0l uin ad Hi2 ddHiqd Y& visd 0.833,
0.694, 0.579, 0.482 7 0.402 €.

Yoy oIl 2R <{lAAL usdiAl G 2l

(1) 4 Hlld wdled ASA? W w27

) Yd Asel el sy Hallv Audl 97 sReL 97

(3) v HIRA d21d €2 Yl AR sUL 1Al W2 GlAL q21a
g2 oIl sl ASA? s1@1L Y7

5 YA sd wyssARol sudl Caidaud-e’d ey el ailF 175
Geuler 52 8. UBAL AR GuUsldl aly 3sa-x< uel Gadled A

N

8. d deol Gewlesdl wiA Al 2 L usi-l sl fsedl ©.
[aseu -1 ¢ 3Msa-x M2 A6l 45 2ug.

[asey -2 ¢ 3Msa-x Hi2 Gl AHY 2yl quRdl.

[aseu -3 ¢ 3Msa-x M2 @i AAUdd Helld Hsd.

ol 5 2L 2814 [sellmigl wAle-11oy uied(l Hi2 3Msa-x-{l olenuiol-l
Ho-Sa IR ol AsA SR8 3 2L oMol Aeiaciil vel
A A3AL 9. F AR o2 Hiol {12, A 2 Gl €1y d-l
Al 2454 0.15, 0.45 249 0.40 Yool Sl A3 . uidR [Axdnel
IR 8L (Flsugls)ll doifid 2 su-lad (A Hool 9y 3 &

DBN-19080002030501 ] 3 [ Contd...



o2 i1~ Risedl 3o wn (3.)
HIo1L[580 Aeda-l Holas Gaulel AHA [ad AAulaa
(fusew - 1) | waadl aqRdl el
(asen - 2) | (fasen - 3)
SR 0.15 200 (-180) (-190)
AL 0.45 200 100 200
Gl 0.40 300 300 400

Melga €1 24 Al ay usolut [seusl wieol suldl. e3s
[aseusl Aoifid x0Rd Yeud 2R iy al.

6 adla HyssAar susll walld-l ueAsd Gedled 52 . a-dl wBal 17.5

gladl gkl wel A yoo 8:
walx sicllsd Raal

yd<l wal aatel Al ay | Mw-s

O) [l (M) P)

A - 5 10 15

B A 16 18 26

C - 15 20 31

D — 8 18 28

ue f2d$ eiRl, AqUIMd AHA (te) 2 s1gd Ay AR sAslyel

Yol omyal.

7 AHIES vAd-ald Qsayeil vad aHodl A AHES saesRl[l 17.5

[Blel-ll sul seuxt 28 duy silasl Al

8  yslcs Ay [Baell ugli-l e 2 yeicns Bsial [xal

AHYAL 20l

DBN-19080002030501 ]

17.5

[ Contd...



Instructions :

ENGLISH VERSION

(1) Answer any four questions.
(2) All questions carry equal marks.

(3) Show required calculations as the part of the
answer.

1 Rajan company has the following two projects. You have 17.5

to decide which of these two projects to choose.
Particulars Project -X [Project-Y
Original Investment (Rs.) 10,40,000 15,60,000
Estimated life (Years) 4 5
Scrap Value (Rs.) 80,000 1,60,000
Discount Rate 12% 12%
Profit before depreciation and

50% taxation :

15t year (Rs.) 3,20,000 4,80,000
2nd year (Rs.) 4,00,000 5,60,000
3rd year (Rs.) 4,80,000 6,40,000
4th year (Rs.) 6,00,000 7,20,000
5th year (Rs.) - 6,00,000

Present value of Re. 1 at 12% and 15% discounted rates
are as under :

Year 1 2 3 4 5
12% | 0.893 (0.797 ] 0.712 | 0.636 | 0.567
15% | 0.870 [0.756 | 0.658 | 0.572 | 0.497

You are requested to guide the management of the company

which project is to be choosed on the basis of following

methods :

(1) Net Present Value Method
(2) Profitability Index Method

3

5

Internal Rate of Return Method
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2  Anupama Co. Ltd. thinks to choose a project. It has

two plans for this.

17.5

The investment in each will be

Rs. 20,00,000. The life span of the project is five years.
Depreciation i1s according to the straight line method.

The taxation rate is 30%.

Annual Cash Flow before depreciation and taxation are as

under :
Year Project -1 Project - 2
(Rs.) (Rs.)
1 8,00,000 9,00,000
2 9,00,000 9,40,000
3 8,00,000 7,50,000
4 7,20,000 8,00,000
5 9,00,000 8,60,000

Present value of Re. 1 for the first five years at the 10%
discounted rate are respectively 0.909, 0.826, 0.751, 0.683

and 0.621.

From this information evaluate the projects by using

(1) Pay-back period method (2) Average Accounting Rate of

Return method and (3) Net present value method and give

the proper advice.

3 Anu Ltd. has two projects. Following are the 17.5

particulars of it (amount in Rs. ‘000).
Market Probability Cash Flow Cash Flow
Position (Rs.) (Rs.)

of Project-A |of Project-B
High 0.2 50 60
Normal 0.6 40 40
Low 0.2 30 20

You have to advise which of the two projects is safe in terms

of risk, based on the deviation.
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4  Evergreen Ltd. has two proposals to purchase Machine -P 17.5

or Machine - Q. Use the “certainty equivalent evaluation
approach” to accept any one proposal. Relative particulars
are as under :

Year Machine - P Machine - Q
Cost value = Rs. 1,80,000 [ Cost value = Rs. 1,85,000
Risk free Investment Risk Free Investment
Rate = 20% Rate = 20%
Expected Certainty Expected Certainty
Net Cash |Equivalent Net Cash | Equivalent
Flow value Flow value
(Rs.) (Rs.)
1 80,000 0.6 90,000 0.5
2 1,10,000 0.7 1,00,000 0.8
3 1,30,000 0.5 1,20,000 0.7
4 1,20,000 0.8 1,40,000 0.4
5 1,40,000 0.4 1,30,000 0.8

Present value of Re. 1 for the next five years at 20%

discounted rate are respectively 0.833, 0.694, 0.579, 0.482

and 0.402.

Answer the following questions on basis of proper calculations:

(1) Which machine should buy? Why?

(2) Which machine is risky in terms of capital investment?
What i1s the reason?

(3) According to the risk based discount rate method, for
which machine the high discount rate should be
calculated? What is the reason?

5  Ashutosh Colour Manufacturing Co. produces “Oil-paint” 17.5
as the main product. During the process the chemical-x also
produced as a by-product. Manufacturer has following three
types of options of operations in this regard.

Option 1 : Giving job work for chemical-x.

Option 2 : Increase production time separately for chemical-x.
Option 3 : Putting an automatic machine for chemical-x
However, the right choice can be based on the quantitative
scale of the market demand for chemical-x as these three
options are also linked to the market demand potential.
According to which the probabilities of low, normal and high

in the market can be 0.15, 0.45, and 0.40 respectively. The
relative effect of cost based profit (per unit) is furnished by
the company as follows :
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Levels of Amount as per option Amt. (Rs.)

Market Probability | Job work Increase | Automatic

Demand (Option 1) prod. time machine
separately | (Option-3)

(Option - 2)

Low 0.15 200 (—180) (—190)

Normal 0.45 200 100 200

High 0.40 300 300 400

Draw the decision tree and show the selection of most

preferred option. Take the relative expected value of each

option as the basis.

6  Levish manufacturing company produces parts of a 17.5
machine. Following are the list of activities showing its
process.

Activity Estimated days

Predecessor |Optimistic [Most likely | Pessimistic
(0) | Likely (M) (P)
A — 5 10 15
B A 16 18 26
C — 15 20 31
D — 8 18 28
Draw the PERT network; state estimated time (te) and
critical path with slack time.

7  Explain the concept of social cost-benefit analysis and 17.5
discuss the meaning and scope of Social Responsibility
Accounts at Corporate level.

8 Give the explanation about the meaning of strategic 17.5
management accounting and strategic triangle.
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